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All Sections are Compulsory. 

Section - A 

1) a) Read the following passage and answer the question that follow : [5] 

   True Economy consists in always making the income exceed the outgo. Wear the old 

clothes or little longer if necessary; dispener with the new pair of gloves; mend the old dress. 

Live on a plainer food, if need be; so that under all circumstances, unless some unforeseen 

accident occurs, there will be a margin in favour of the Income. 

i) Write the antonym of „exceed‟. 

ii) What does the writer say? 

iii) Where in lies true economy? 

iv) Pick out the word from this passage which is the Synonyms for „repair‟. 

v) What are the three domestic things mentioned? 

  b) Read the following passage and answer the questions that follow; choosing the right answer. 

             [5] 

    One day the old man lifted his head slowly. When he saw the silver he would not put out 

his hand. He said „Sir. I did not beg of you. Sir, we have good land and we have never been 

starving like this before, having such good land‟. But this year that river rose and men starve 

even on good land at such times, Sir, we have no food and no seed left even. We have eaten 

our seed. I told them, we cannot eat our seed. But they were young and hungry and they ate it. 

i) The old man lifted his head slowly as  

1) he was having a pain in his head 

2) none of these 

3) could not decide what to do 

4) was frightened 

ii) He would not put out his hand because 



 

1) he wanted seed 

2) he wanted only food 

3) he did not ask for the silver 

4) he was a man of self respect 

iii) Their seed was exhausted because of  

1) consumption 

2) extreme poverty 

3) floods 

4) migration 

iv) They had never starved earlier as 

1) they had good food 

2) they had never had such floods 

3) they were very rich 

4) they always had good seed 

v) The statement, „we have no seed left, even‟ reveals  

1) a state of divine bliss 

2) a feeling of utter helplessness 

3) a sense of deep disgust 

4) a sense of anger 

   

2) Answer any two of the following in not more than 100 words each. [2 × 4 = 8] 

a) How is wisdom defined in Kalam‟s lesson “the knowledge society”? 

b) Give a brief Summarize Gandhi‟s experiences as a student in London. 

c) What are the things Helen keller would see on the Secondary? 

d) Describes the L.A. Hill‟s views on freedom. 

3) Answer any one of the following in about 200 words : [8] 

a) Explain the character of Edward Middleton. 

b) Describe the title of the essay “Man‟s peril‟. 

c) Explain in your own words about to the Abdul Kalam‟s “the knowledge Society”. 
 

Section - B 

 

4) a) Answer any one of the following in not more than 100 words. [4] 

i) Bring out the central idea of the poem “mending wall”. 

ii) What does the nightingale Symbolise for the poet? 

iii) What is the poet‟s prayer to the west wind? 



 

  b) Explain any one of the following : [4] 

   i) Explain – „I am a part of all that I have met‟. 

   ii) I cannot rest from travel : I will drink life to the lees. 

iii) Good fences make good neighbours. 

5) Answer any ONE of the following in about 200 words : [8] 

a) Write an appreciation of the lyricism in the “Ode to Nightingale”. 

b) Explain the London city as you find if in William Blake‟s poem, London. 

c) Describe „the last Ride Together‟ is a dramatic monologue. Discuss.  
 

Section - C 

 

6) Answer any ONE of the following in about 200 words : [8] 

a) Explain the Arun Joshi‟s handling of the American dream of success. 

b) Explain the brief story of „Lottery Ticket‟ in your own words. 

c) How did luck favour an absolute fool like scores by? 

 

Section - D 

  

7) Read the following passage and Summarise it.  [6] 

   There are two types of courage. The first type is physical courage the courage which makes a 

man ready to risk wounds or death. The second is moral courage-the courage which makes a man 

risk his career his happiness. On what he thinks right or worth while. This two types of courages 

are quite different from each other. To be really great, a man-or notion must possess both kinds of 

courages. 

 

8) Write an essay on one of the following : [6] 

a) Education System in Andhrapradesh 

b) The role of media 

c) Communal Harmony 

 

9) Answer any one of the following : [6] 

a) Write a report the accident you have seen. 

b) Explain the function of the „Governer‟. 

 

 

 



 

10) Use four of the following idioms and phrases in sentences of your own. [6] 

a) more heaven and earth  

b) call off  

c) be all ears  

d) iron out 

e) face the music 

f) give up 

g) grease someone‟s palm 

h) up to the mark 

 

11) Answer any one of the following : [6] 

a) Write a letter to your colligue inviting to your marriage. 

b) Write a dialogue between you and a shopkeeper at a book stall. 

c) Write an Imaginary dialogue between you and a clerk at the reservation counter. 




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1) D {Mìü…¨ ÐésìýÌZ JMæü ç³§éÅ°Mìü {ç³†ç³§éÆæÿ¦ ™é™èþµÆ>ÅË$ {ÐéÄæý$…yìþ. (1 x 8 = 8) 

a) A^èþaç³#¶ iMæüsìý…ºyìþ Væü–çßý{Ðèþ™èþ$ÌñýO ÑçÙÄæý$ {ç³ÑçÙ$tÌñO 

^èþ^èþ$a^èþ$¶ º$r$t̂ èþ$¯Œþ Ðèþ$ÆæÿË¶ fÇÓ™èþ ^èþÆæÿÓ×ý$ÌñýŌ èþ ÐéÇMìü¯Œþ 

gñý^ðþaÆæÿ¶ º$r$t̄ óþ? ç³Ææÿ$Ë$ òÜí³µ¯èþ¯ðþŌ èþ °gôý^èþe¯ðþŌ èþ ¯óþ 

Ñ$_a¯èþ ¯ðþŌ èþ¶ V>¯èþËMæü$ ¯óþW è̄þ ¯ðþŌ èþ çßýÇ{ç³»Z«§æþÐèþ$$ÌŒý 

b) fËgê™éçÜ¯èþ ÐéçÜÐé¨ çÜ$Ææÿç³Ngê ¿êf è̄þ…»ñýO ™èþ¯èþ 

Ææÿ$¾ Ë™é…™éÄæý$$«§æþ¶ Væü¯èþ²™èþ…{yìþ ÕÆøÐèþ$^øaÐéÐèþ$ ´ë§æþ…º$¯èþ… 

§öËVæü…{§ø ð̂þ Ë™é…W; Äæý$rÏÄæý$Væü$; ¯é«§æþ$Ìôý²ÆæÿÐèþ$$ ÌôýÞÄæý$¶»ôý 

ÆæÿË$Mæü… gñý…¨¯èþ Äæý$sìýt M>…™èþ Ë$_™èþ ÐéÅ´ëÆæÿÐèþ$$ Ìôý²Ææÿ$¢Æóÿ.  
 

2) D {Mìü…¨ ÐésìýÌZ {ç³†¿êVæü… ¯èþ$…yìþ Æðÿ…yæþ$ çÜ…§æþÆæÿÂ çÜíßý™èþ ÐéÅQÅË$ {ÐéÄæý$…yìþ. (4 x 2 = 8) 

A & ¿êVæü… 

  a)  Mæü–™éç³Æ>«§æþ$yæþ™èþ°¯Œþ ÐèþÇ~…ç³ ±MóüsìýMìü¯Œþ 

 b)  Ñ$Væü$Ë¶ VøËµyìþ ´ùÆÿ$$† ó̄þÑ$ õÜÄæý$$§æþ$¯Œþ 

 c)  Mæü$Ë «§æþÓ…çÜ…º$ ± MæüÆæÿáÐóþ$ 

 d)  ¯éÄæý$¿êVæüÅÑ$…™ðþ Äñý$$MæüÇ¶ ºËP ó̄þË 

B & ¿êVæü… 
 a)  CMæü ¯èþ¯èþ$² ÑíÜW…ç³Mæü$ 



 

 b)  {ç³† Ðèþ$°íÙ MæüÆ>Ë$ Ýë_ «§æþÇ{†¯óþË$ 

 c)  C…†…™èþ BÐðþ$ Ðèþ$¯èþõÜ Äñý$‚ýÊºyìþ´ùÄñý$ 

 d)  ¯é Ðèþ*r ¿êÑ™èþÆ>ËMæü$ ÐéÆæÿçÜ™èþÓ…V> çÜ…{MæüÑ$çÜ$¢…¨ 

3) D {Mìü…¨ ÐésìýÌZ {ç³†¿êVæü… ¯èþ$…yìþ JMæü§é°Mìü çÜÐèþ*«§é¯èþ… {ÐéÄæý$…yìþ. (2 x 8 = 16) 

A & ¿êVæü… 

  a)  {ç³àÏ§æþ$° ÑçÙ$~¿æýMìü¢° ÑÐèþÇ…^èþ…yìþ. 

 b)  çÜ™èþÅ¿êÐèþ$ AË$Mæü¯èþ$ ÑÐèþÇ…^èþ…yìþ. 

B & ¿êVæü… 

  a)  {Ö {Ö MæüÑ™é™èþ™éÓ°² "{ç³†fq' §éÓÆ> ÑÔèý©MæüÇ…^èþ…yìþ. 

 b)  †ËMŠü MæüÑ™é«§éÆæÿ¯èþ$ "BÆæÿ¢X™èþ…' §éÓÆ> ÑÐèþÇ… è̂þ…yìþ. 

   

4) D {Mìü…¨ ÐésìýÌZ {ç³†¿êVæü… ¯èþ$…yìþ JMæü§é°Mìü çÜÐèþ*«§é¯èþ… {ÐéÄæý$…yìþ. (2 x 7 = 14) 

A & ¿êVæü… 

 a)  çÜÓ¿êÚëÀÐèþ– ®̈Mìü ¡çÜ$MøÐéÍÞ è̄þ gê{Væü™èþ¢Ë$ ™ðþË$ç³…yìþ. 

 b)  Æ>Äæý$ËM>Ë… ¯ésìý f è̄þ$Ë ÐèþÝë¿̂æýÆæÿ×êË¯èþ$ ÑÐèþÇ… è̂þ…yìþ. 

B & ¿êVæü… 

 a)  "ºçßý$M>Ë §æþÆæÿØ¯èþ…' ÌZ° ^èþÐèþ$™éPÆ>°² ÑÐèþÇ… è̂þ…yìþ. 

 b)  "Ðèþ$¯èþ$^èþÇ{™èþ' ÌZ° ÐèþòÜ•¢üÓMæüÅÐèþ$$ Væü*Ça {ÐéÄæý$…yìþ.  

5) D {Mìü…¨ ÐésìýÌZ Æðÿ…yìþ…sìýMìü çÜÐèþ*«§é¯éË$ {ÐéÄæý$…yìþ. (2 x 7 = 14) 

 a)  ÐèþÆæÿÑ{MæüÄæý$ ¯érMæü çÜ…§óþÔé°² Væü$Ç…_ {ÐéÄæý$…yìþ. 

 b)  íÜ…VæüÆ>k Í…VæüÆ>k í³íÜ¯éÇ™èþ¯é°² ÐèþÇ~…^èþ…yìþ. 

 c)  M>ã…¨ ´ë{™èþ _{™èþ×ý¯èþ$ ÑÐèþÇ…^èþ…yìþ. 

 d)  ò³ãÏâæýÏ õ³ÆæÿÄæý$Å&ÑÐéàË ÒÆæÿÄæý$ÅË ´ë{™èþË¯èþ$ è̂þÇa… è̂þ…yìþ.  



 

6) D {Mìü…¨ ÐésìýÌZ JMæü§é°° Væü*Ça ÐéÅçÜ… {ÐéÄæý$…yìþ. (1 x 10 = 10) 

 a)  {Væü…£éËÄæý*Ë$&BÐèþÔèýÅMæü™èþ. 

 b)  E{VæüÐé§æþ…&°Ææÿ*ÃË è̄þ. 

 c)  Ò$Mæü$ è̄þ_a¯èþ MæüÑ.  

7) a)  D {Mìü…¨ ç³§æþÅ´ë§é°Mìü Væü×ýÑ¿æýf¯èþ ^óþíÜ, bèþ…§æþçÜ$Þ¯èþ$ Væü$Ç¢…_, Äæý$†° ™ðþËµ…yìþ. (1 x 5 = 5) 

    i)  {†ç³µMæü$ Ðèþ$¯èþ²Ðèþ* Ðèþ$™èþÐèþ$$ ©ÆæÿƒÐèþ$$ ÌñýŌ èþ{† ÐèþÆæÿÝ ëuæÿÐèþ$$ÌŒý  

Ìôý§é 

   ii)  D {Mìü…¨ ÐésìýÌZ JMæü§é°Mìü Ýù§éçßýÆæÿ×ý…V> Ë„æü×ê°² ™ðþËµ…yìþ. 

     1) ÔéÆ>ªËÐèþ$$ 

     2) Mæü…§æþ…  

 

 b)  D {Mìü…¨ ç³§æþÅ…ÌZ AË…M>Æ>°² ™ðþÍµ Ë„æü×ý…™ø çÜÐèþ$¯èþÓÆÿ$$… è̂þ…yìþ. (1 x 5 = 5) 

    i)  ™óþ¯ðþ ç³NíÜ¯èþ Mæü†¢ «§é{¡çÜ$Ææÿ$…yæþ$ 

Ìôý§é 

   ii)  D {Mìü…¨ AË…M>Æ>ÌZÏ JMæü§é°Mìü Ýù§éçßýÆæÿ×ý…V> Ë„æü×ý… ™ðþËµ…yìþ. 

     1) Eç³Ðèþ*Ë…M>ÆæÿÐèþ$$. 

     2) AÆ>¦…™èþÆæÿ¯éÅÝëË…M>ÆæÿÐèþ$$. 

  

 
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1) {ZåZ{b{IV nÚm§e H$mo gàg§J ì`m»`m H$s{OE & [18] 

a) i) gmB© BVZm Xr{OE, Om_¡ Hw$Q>§w~ g_m`  

 _| ^r ŷIm Z ah±ÿ, gmYw Zm ŷIm Om`  

AWdm 

 ii) Omo ahr_ CÎm_ àH¥${V, H$m H$[a gH$V Hw$g§J  

  M§XZ {df ì`mnV Zhr, bnQ>o ahV ŵO§J 

b) i) EH$ ^amogmo EH$ ~b, EH$ Amg {dídmg  

 EH$ am_ KZí`m_ {hV, MmVH$ VwbgrXmg 

AWdm 

 ii) On_mbm N>mnm {VbH$, ga¡ _ EH$m¡ H$m_  

  _Z H$m§Mo ZmMo d¥Wm, gm§Mo am§Mo am_ 

c) i) Y_©amO, `h ŷ{_ {H$gr H$s Zhr, H«$sV h¡ Xmgr  

 h¡ OÝ_Zm g_mZ nañna BgHo$ g^r {Zdmgr 

AWdm 

 ii) Vwbgr nmdg Ho$ g_¡, Yar H$mo{H$bm _m¡Z  

  A~ XmXþa dŠV ^`o, h_ H$h± nyN>V H$m¡Z 

 



 

2) {H$gr EH$ H${dVm H$m gmam§e {b{IE & [10] 

a) `wJmdVma ~mny 

b) {^jwH$ 

c) H$_©dra 

 

3) {H$gr EH$ H${d H$m n[aM` Xr{OE & [10] 

a) gmohZ bmb {ÛdoXr 

b) am_Ymar qgh {XZH$a 

c) H$~ra Xmg 

 

4) {H$gr EH$ {df` na {Z~§Y {b{IE & [10] 

a) XhoO - àWm 

b) ~oH$mar H$s g_ñ`m 

c) _oam {à` boIH$ - ào_MÝX 

d) g_` H$m gXþn`moJ 

e) n`m©daU - àXÿfU 

5) {H$gr EH$ gm{hË`H$ {df` na {Z~ÝY {b{IE & [20] 

a) {ZJ©wU ^{º$ - H$~raXmg 

b) H¥$îU ^{º$ - gwaXmg 

c) ar{VH$mb Am¡a {~hmar bmb 

d) ZmQ>H$ H$m {dH$mg - O`e§H$a àgmX 

 

6) {ZåZ{b{IV JÚ H$m {hÝXr _| AZwdmX H$s{OE & [12] 

  Kalidas is known as the Shakespeare of India. His name has been immortalised in the history of 

Sanskrit Literature. He was at the head of the celebrated nine gems which adorned the court of 

Vikramaditya. 

 


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Note : This paper may be answered either in Sanskrit or Telugu or English. While answering in 

Sanskrit. Devanagari Script should be used. 
 

1) Answer any two questions. [2 × 10 = 20] 

  Û`mo… CÎma§ {bIV 

a) ZmJmÝXàW_m‘>ñ` gmam§e§ {bIV & 

 Write the summary of Nagananda. 

b) D$é^“ ZmQ>H$ñ` gma§ {b{IV & 

Write the summary of Urubhanga. 

c) lrH¥$îU - gwXmåZmo… _¡Ìr H$W§ AmgrV² & 

Describe the friendship of Krishna and Sudama. 

d) hf©dY©Zñ` nmÌmUm§ M[aÌ{MÌU MmVwat {deX`V &  

  
 Analise, How the poet Harshavardhana, has characterized various characters in terms of their 

historical significance.  

 
2) ^moOXodñ` n[aM`mË_H§$ {Z~ÝY_oH§$ {bIV & [10] 

  Write an essay about the poet Bhoja. 

AWdm / OR 

  lram_MÝÐH$do… n[aM`mË_H§$ {Z~ÝY_oH§$ {b{IV & 

  Explain the greatness of the poet Sri Ramachandra. 

 

3) MËdm[a ggÝX ª̂ ì`m»`mV… [4 × 3 = 12] 

  Explain any four of the following with reference to context. 



 

a) gd©ñ`mä`mJVmo Jwé… 

b) ewHo$Z M nX§ gmåZm{_X§ nR>²̀ Vo> 

c) ñd§ Xoh_Ym}naV§ dhm{_ 

d) gXhZ Bd _oé… l¥“b¾oÝÐMmn… 

e) {dZm{^foH§$ amOm Ëd§ {dàmoŠV¡ d©MZ¡ _©_ 

f) Ah_Ì {^jwH$ê$noUmJVmo@pñ_ 

g) dfm©{Zer`mX{deofdof_² 

h) ^dVw ^dVw VoZmJVoZ ^{dVì`_² 
 

4) Write a brief note on any two … [2 × 4 = 8] 

  Û`mo… bKwQ>rH$m§ {bIV & 

a) ^Å>Zmam`U… 

b) lrhf©… 

c) O`Xod… 

d) ^ma{d… 

 

5) Û`mo… Ab‘>ma`mo… bjUmoXmhaUo {bIV … [2 × 5 = 10] 

  Define and illustrate any two alankaras … 

a) Ñï>mÝV… 

b) ñd^mdmo{ŠV… 

c) AZÝd`… 

d) XrnH$_² 

 

6) MVwUmª {Z{X©ï>{d^{º$fw ê$nm{U {bIV … [4 × 2 = 8] 

  Write the forms of any four of the following sabdas in the given case … 

a) Ob_wM² - {ÛVr`m 

b) dmM² - gá_r 

c) _éV² - nÄM_r 

d) ^dV² - g§~moYZ-àW_m 

e) amOZ² - fð>r 



 

f) `wî_X² - àW_m 

g) VV²-ór - {ÛVr`m 

h) EVX²-nw§ - V¥Vr`m 

7) MVwUmª VÌàË``mZ² `moO{`Ëdm ê$nm{U {bIV - [4 × 1 = 4] 

  Write the forms of any four of the following adding the given Terminations … 

a) ñWm - ŠËdm 

b) à - {de² - ë`n² 

c) Zr - Vw_Z² 

d) nm - ŠV 

e) b ²̂ - ŠVdVw 

f) H¥$f² - eV¥ 

g) lw - emZM² 

h) {M - Vì`V² 

 
8) MËdm[a nXm{Z Am§½b^mfm`m AWdm AmÝY«̂ mf`m AZwdXV - [4 × 2 = 8] 

  Translate any four sentences into Telugu or English. 

a) {dÚm XXm{V {dZ §̀ 

b) {l`§ BÀN>oV² hþVmeZmV² 

c) XþJm© g_m XodVm Z ŷVmo Z ^{dî`{V 

d) OJV… {nVam¡ dÝXo nmd©Vrna_oœam¡ 

e) Jwé… gmjmV² na~«÷ Vñ_¡ lrJwado Z_… 

f) {dÚmYZ§ loð>YZ_² 

g) {eew… do{Îm new… do{Îm do{Îm JmZag§ \${U… 

h) gd} JwUm… H$m#mZ§ Aml`ÝVo 
 


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                                               Section - A (4 x 10 = 40) 

Answer any Four of the following 

Each question carries 10 marks 

 

1) Write about atmosphere and hydrosphere. 

 Ðé™é-Ðèþ-Ææÿ-×ýÐèþ$$, fÌê-Ðèþ-Ææÿ-×ý-Ðèþ$$-Ë¯èþ$ Væü$Ç…_ {ÐéÄæý$…yìþ. 

2) Explain the conservation and Management of National Resources. 

 çÜçßýf Ðèþ¯èþ-Ææÿ$Ë ç³Ç-Ææÿ-„æü×ý, °ÆæÿÓ-çßý-×ý-Ë è̄þ$ Væü$Ç…_ ÑÐèþ-Ç… è̂þ…yìþ. 

3)  Write about Food chains. 

 BàÆæÿ Ôèý–…Q-Ìê-Ë¯èþ$ Væü$Ç…_ {ÐéÄæý$…yìþ. 

4)  Write about Nuclear pollution. 

 ¯èþ*ÅMìüÏ-Äæý$ÆŠÿ M>Ë$-ÚëÅ°² Væü$Ç…_ {ÐéÄæý$…yìþ. 

5) Write about global warming. 

 ¿æý*™é-ç³Ðèþ$$ (VøÏ-ºÌŒý ÐéÇÃ…VŠü) Væü$Ç…_ {ÐéÄæý$…yìþ. 

6) Write about reasons for the population growth. 

 f¯é¿ê ò³Ææÿ$-Væü$-§æþ-Ë¯èþ$ Væü$Ç…_ è̄þ M>Ææÿ-×ê-Ë¯èþ$ {ÐéÄæý$…yìþ. 

7) Explain about the various Food resources and mineral resources. 

 ÑÑ«§æþ BàÆæÿ Ðèþ¯èþ-Ææÿ$Ë$, Q°f Ðèþ¯èþ-Ææÿ$-Ë¯èþ$ Væü$Ç…_ ÑÐèþ-Ç… è̂þ…yìþ. 

8) Explain the role of individuals in control of pollution. 

 M>Ë$çÙÅ °Ðé-Ææÿ-×ýÌZ ÐèþÅMæü$¢Ë ´ë{™èþ Væü$Ç…_ ÑÐèþ-Ç…^èþ…yìþ. 



 

           Section - B (3 x 20 = 60) 

Answer any three of the following 

  
9) Explain the causes and effects of air pollution. 

 ÐéÄæý$$ M>Ë$-çÙÅ-Ðèþ$$¯èþ$ Væü$Ç…_ M>Ææÿ-×êË$, {ç³¿ê-ÐéË™ø ÑÐèþ-Ç…^èþ…yìþ. 

10) Write about Ecological pyramids and Ecological succession.  

 iÐé-Ðèþ-Ææÿ×ý í³Ææÿ-Ñ$-yŠþË$ Ðèþ$ÇÄæý$$ iÐé-Ðèþ-Ææÿ×ý ÐéÆæÿ-çÜ-™èþÓÐèþ$$ (G-Mæü-Ìê-h-MæüÌŒý çÜMðüÞ-çÙ-̄ Œþ-) -Væü$-Ç…_ {ÐéÄæý$…yìþ. 

11) Discuss the uses of Biodiversity and threats to Biodiversity. 

  iÐèþ -ÐðþO-Ñ-«§æþÅ-Ðèþ$$-̄ èþMæü$ VæüË {ç³Äñý*-f-̄ é-Ë è̄þ$ ^èþÇa…_ iÐèþ ÐðþOÑ-«§æþÅ-Ðèþ$$-̄ èþMæü$ Ðésìý-Ë$Ï-™èþ$-̄ èþ² Ðèþ$$ç³š Væü$Ç…_ {ÐéÄæý$…yìþ. 

12)  Define and explain the scope and importance of Environmental studies. 

  ç³Æ>Å-Ðèþ-Ææÿ×ý A«§æþÅ-Äæý$-Ðèþ$$¯èþ$ Væü$Ç…_ °ÆæÿÓ-_…_ D ÔéçÜÐ̂èþ$$ Äñý$$MæüP ç³Ç-«̈ -° {´ë«§é-̄ èþÅ™èþ¯èþ$ ÑÐèþ-Ç…^èþ…yìþ. 

13) Explain the problems of urbanisation and population growth. 

 ç³rt-×îý-Mæü-Ææÿ-×ý-Ðèþ$$, f¯é¿ê ò³Ææÿ$-Væü$-§æþË ÐèþË¯èþ MæüÍVóü çÜÐèþ$-çÜÅ-Ë¯èþ$ Væü$Ç…_ ÑÐèþ-Ç…^èþ…yìþ. 

14)  Explain the causes, effects and methods of control of Marine pollution.  

 çÜÐèþ$$-{§æþ-f-ÌêË M>Ë$-ÚëÅ-°Mìü VæüË M>Ææÿ-×ê-Ë¯èþ$, A…§æþ$-Ðèþ-Ë¯èþ MæüË$Væü$ §æþ${çÙµ-¿êÐé-Ë¯èþ$, °Ðé-Ææÿ×ê ç³§æþ®-™èþ$-Ë-̄ èþ$ ÑÐèþ-Ç…^èþ…yìþ. 

   

 

                                                                                                                    



 

 (DICS 21) 

B.A./B.Com./B.Sc. DEGREE EXAMINATION, DEC. - 2015 
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Paper – II : SCIENCE AND CIVILIZATION 

Time : 1½ Hours  Maximum Marks : 50 
     

                                               Section - A (2 x 13 = 26) 

Answer any Two questions 

 

1) Explain briefly about Paleolithic civilization.  

 õ³Í-Äñý$-$Í¤MŠü ¯éVæü-Ç-Mæü™èþ Væü$Ç…_ çÜ…{Væü-çßý…V> ÑÐèþ-Ç…^èþ…yìþ. 

2) Write about discoveries of penicillin and vitamins. 

 ò³°Þ-Í¯Œþ, Ñr-Ñ$-̄ ŒþË BÑ-çÙP-Ææÿ-×ý-Ë¯èþ$ Væü$Ç…_ {ÐéÄæý$…yìþ. 

3)  Write about gunpowder and ICBM. 

 Væü¯Œþ-´û-yæþÆŠÿ Ðèþ$ÇÄæý$$ ICBMË¯èþ$ Væü$Ç…_ {ÐéÄæý$…yìþ. 

4)  Explain the concepts of security and social justice. 

 ¿æý{§æþ™èþ, çÜÐèþ*-hMæü ¯éÅÄæý$… ¿êÐèþ-̄ èþ-Ë¯èþ$ ÑÐèþ-Ç…^èþ…yìþ. 

             Section - B (3 x 4 = 12) 

Answer any three questions 

 5) a) X-rays. 

   X-MìüÆæÿ-×ê-Ë$. 

 b) Automobile. 

   BsZ-Ððþ$$-»ñýO-ÌŒý. 

  c) Telephone 

   sñýÍ-̧ ù-̄ Œþ. 

 d) Green Revolution 

   çßýÇ™èþ Ñç³Ï-Ðèþ-Ðèþ$$. 



 

 e) Refrigeration. 

   Ç{íœ-h-Æóÿ-çÙ-̄ Œþ 

 f) Solar cells. 

   ÝûÆæÿ çœ$r-M>-Ë$. 

            Section - C (3 x 4 = 12) 

Answer all Questions 

6) Fill in the blanks. 

 Rêä-Ë¯èþ$ ç³NÇ… è̂þ…yìþ. 

 a) Deficiency of Vitamin C causes _____ disease. 

   Ñr-Ñ$¯Œþ "íÜ' ÌZç³… ÐèþË è̄þ MæüË$Væü$ ÐéÅ«̈  _____.   

 b) Television was invented by _____. 

   sñýÍÑf Œ̄þ¯èþ$ Mæü¯èþ$Vö°¯èþ ÐéÆæÿ$ _____. 

  c) Electronic bulb was invented by _____. 

   Ñ§æþ$Å™Œþ ºË$¾¯èþ$ Mæü¯èþ$Vö°¯èþ ÐéÆæÿ$ _____.  

 d) Camera is comparable to _____ in Human bodies. 

   MðüÐðþ$Æ>™ø ´ùÍMæü MæüÍW è̄þ Ðèþ*¯èþÐèþ ÔèýÈÆæÿ…ÌZ AÐèþÄæý$Ðèþ ¿êVæü… _____.  

7) Choose the correct word. 

 çÜÇÄñý$Ō èþ ç³§æþÐèþ$$¯èþ$ Væü$Ç¢… è̂þ…yìþ. 

 a) Example for Fertilizer. 

   i) Ammonia    ii) Urea 

   iii) N2O     iv) HCl   

   G‚ý$Ðèþ#Mæü$ E§éçßýÆæÿ×ý. 

   i) AÐðþ*Ã°Äæý*     ii) Äæý$*ÇÄæý* 

   iii) N2O     iv) HCl    

 b) Principle followed in Aeroplanes is 

   i) Pascal     ii) Archimedis 

   iii) Dalton     iv) Bernaouli     

   



 

   ÑÐèþ*¯éËÌZ Eç³Äñý*W…^èþºyæþ$ çÜ*{™èþÐèþ$$ 

   i) ´ëçÜPÌŒý      ii) BÇPÐðþ$yìþ‹Ü 

   iii) yéËt̄ Œþ      iv) »ñýÆú²Í 

  c) Vitamin present in Solar rays. 

   i) Vitamin A    ii) Vitamin D 

   iii) Vitamin B    iv) Vitamin C 

   ÝûÆæÿ ÑMìüÆæÿ×êËÌZ E è̄þ² ÑrÑ$¯Œþ 

   i) ÑrÑ$¯Œþ "G'      ii) ÑrÑ$¯Œþ "yìþ' 

   iii) ÑrÑ$¯Œþ "¼'     iv) ÑrÑ$¯Œþ "íÜ'  

8) Match the following : 

 a) Biogas  i) CHCl3    

  b) Insulin     ii) Eye disease 

  c) Chloroform     iii) Sugar disease 

 d) Vitamin A     iv) Methane  

 {Mìü…¨ Ðésìý° f™èþç³Ææÿ^èþ…yìþ. 

 a) ºÄñý*V>Å‹Ü  i) CHCl3    

  b) C¯èþ$ÞÍ Œ̄þ     ii) ¯óþ{™èþ ÐéÅ«̈  

 c) MøÏÆø¸ëÆæÿ…      iii) çÙ$VæüÆŠÿ ÐéÅ«̈  

 d) ÑrÑ$¯Œþ "G'      iv) Ò$£óþ¯Œþ 

 
  

 
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SECTION-A 

                                                Answer All the following Questions                       (8×4 = 32) 

Each question carries 4 marks 

1) Find the distance of the point (1, 4, 5) from the plane passing through the points (2, 1, 5), 

(0, 4, 1) and (2, 6, 0).  

 (2, 1, 5), (0, 4, 1), (2, 6, 0) ¼…§æþ$Ð@þ#Ë$ Væü$…yé ´ùÄôý$ ™èþË… çÜÒ$MæüÆæÿ×ý… @̄þ$…_ (1, 4, 5) ¼…§æþ$Ð@þ#Mæü$ VæüË 

Ë…º §æþ*ÆæÿÐ@þ¬ Mæü¯@þ$Vö¯@þ$Ð@þ¬. 

2) Find the distance of the point (1, 2, 3) from the plane  measured parallel to 

the line . 

    ÆóÿQMæü$ çÜÐ@þ*…™èþÆæÿÐ@þ¬V>¯@þ$¯@þ² ™èþËÐ@þ¬   @̄þMæü$ (1, 2, 3) ¼…§æþ$Ð@þ#Mæü$ VæüË 

§æþ*ÆæÿÐ@þ¬¯@þ$ Mæü¯@þ$Vö¯@þ$Ð@þ¬.   

3) Deduce the equation of the sphere described on the line joining the points (2, 1, 4) and 

( 2, 2, 2) as diameter. Also find its centre and radius. 

 (2, 1, 4) Ð@þ$ÇÄ¶ý¬ ( 2, 2, 2) ¼…§æþ$Ð@þ#Ë$ ÐéÅÝë¶V>Ë$V> VæüË Vøâ¶ýÐ@þ¬¯@þ$ Mæü¯@þ$Vö¯@þ$Ð@þ¬. Ð@þ$ÇÄ¶ý¬ §é° 

Móü…{§æþÐ@þ¬, ÐéÅÝëÆæÿ®Ð@þ¬ Mæü¯@þ$Vö¯@þ$Ð@þ¬. 

  

4) Find the equation of the cone whose vertex is (3, 1, 2) and base the circle 

. 

   A ó̄þ Ð@þ–™èþ¢Ð@þ¬ B«§éÆæÿÐ@þ¬, ÖÆæÿÛÐ@þ¬  (3, 1, 2) V> VæüË Ô¶ý…Mæü$ çÜÒ$MæüÆæÿ×ýÐ@þ¬ Mæü¯@þ$Vö¯@þ$Ð@þ¬. 



 

 

5) Examine the sequence  is convergence. 

   A¯@þ$ ¶MæüÐ@þ$… AÀçÜÇçÜ$¢…§æþ° ç³È„ìü…ç³#Ð@þ¬. 

6) Test for convergence of 
1

1

1n n n
. 

 
1

1

1n n n
  AÀçÜÆæÿ×ý™èþ¯@þ$ ç³È„ìü…^èþ…yìþ. 

7) By using L’Hospital rule, evaluate 
2

0

log(1 )x

x

xe x
Lt

x
.  

 ÌŒý’ àçÜµrÌŒý çÜ*{™èþÐ@þ¬¯@þ$ç³Äñý*W…_ 
2

0

log(1 )x

x

xe x
Lt

x
 ¯@þ$ Ýë«̈ …^èþ$Ð@þ¬. 

8) If  R is continuous  on  then show that f is integrable on . 

  R {ç³Ðóþ$Ä¶ý$… AÑ_e @̄þ²OÐðþ$™óþ  Ò$§æþ f  çÜÐ@þ*MæüË±Ä¶ý$… A° ^èþ*ç³…yìþ. 

SECTION-B 

                                                            Answer all Questions                                 (4×12 = 48) 

Each question carries 12 marks 

9) a) i) Find the replection (image) of the point (1, 3, 4) in the plane 

. 

   (1, 3, 4)  ¼…§æþ$Ð@þ#Mæü$  ™èþË… Ò$§æþ {ç³†¼…ºÐ@þ¬¯@þ$ Mæü¯@þ$Vö¯@þ$Ð@þ¬. 

  ii) Find the equation of the plane through the point (2, 1, 0) and perpendicular to 

the planes  and .  

    Ð@þ$ÇÄ¶ý¬  ™èþËÐ@þ¬ËMæü$ Ë…ºÐ@þ¬V> E…yìþ (2, 1, 0) 

¼…§æþ$Ð@þ# Væü$…yé ´ùÄôý$ ™èþË çÜÒ$MæüÆæÿ×ýÐ@þ¬¯@þ$ Mæü¯@þ$Vö¯@þ$Ð@þ¬. 

OR 

 b) Find the magnitude and equations of the shortest distance between the lines 

 and . Find also the points where it intersect the 

lines. 



 

   Ð@þ$ÇÄ¶ý¬  A ó̄þ ÆóÿQË Ð@þ$«§æþÅ AËµ™èþÐ@þ$ §æþ*ÆæÿÐ@þ¬ Mæü¯@þ$Vö¯@þ$Ð@þ¬. 

Ð@þ$ÇÄ¶ý¬ B ÆóÿQË bóþ§æþ¯@þ ¼…§æþ$Ð@þ#¯@þ$ Mæü¯@þ$Vö¯@þ$Ð@þ¬. 

10) a) i) Prove that the circles 

 and 

 lie on the same 

sphere and find its equation.  

    Ð@þ$ÇÄ¶ý¬ 

 A¯óþ Ð@þ–™èþ¢Ð@þ¬Ë$ JMóü Vøâ¶ýÐ@þ¬ 

Ò$§æþ E…yæþ$¯@þ° °Ææÿ*í³…^èþ$Ð@þ¬. Ð@þ$ÇÄ¶ý¬ BVøâ¶ý… çÜÒ$MæüÆæÿ×ýÐ@þ¬ Mæü¯@þ$Vö¯@þ$Ð@þ¬. 

  ii) Find the centre and radius of the circle 

. 

    A ó̄þ Ð@þ–™èþ¢Ð@þ¬ Äñý¬MæüP Móü…{§æþÐ@þ¬ 

Ð@þ$ÇÄ¶ý¬ ÐéÅÝëÆæÿ®Ð@þ¬ Mæü¯@þ$Vö¯@þ$Ð@þ¬. 

OR 

 b) i) Find the equation of the right circular cone whose vertex is the origin, whose 

axis is the line  and which has semi-vertical  angle of 30°.  

    A ó̄þ ÆóÿRê„æüÐ@þ¬ Ð@þ$ÇÄ¶ý¬ Ð@þÊË¼…§æþ$Ð@þ# Ð@þ$ÇÄ¶ý¬ 30° òÜÒ$ ÖÆæÿÛMø×ýÐ@þ¬ MæüÍW @̄þr$Ð@þ…sìý 

Ë…º Ð@þ–™é¢M>ÆæÿÐ@þ¬ MæüÍW @̄þr$Ð@þ…sìý Ô¶ý…Mæü$ çÜÒ$MæüÆæÿ×ýÐ@þ¬ Mæü¯@þ$Vö¯@þ$Ð@þ¬. 

  ii) Find the equation of the right circular cylinder of radius 2 whose axis passes 

through (1, 2, 3) and has direction ratios 2, 3, 6.  

   ÐéÅÝëÆæÿ®Ð@þ¬ 2 V> MæüÍW¯@þr$Ð@þ…sìý Ð@þ$ÇÄ¶ý¬ ÆóÿRê„æüÐ@þ¬ (1, 2, 3) Væü$…yé ´ù™èþ* 2, 3, 6 ¨MŠü °çÙµ™èþ$¢Ë$ 

MæüÍW @̄þr$Ð@þ…sìý Ë…ºÐ@þÆæÿ$¢Ë çÜ*¢ç³MæüÐ@þ¬ Äñý¬MæüP çÜÒ$MæüÆæÿ×ý… Mæü¯@þ$MøP…yìþ. 

11) a) i) If  lim Sns  then show that 1 2lim Sns s s

n


.  

   lim Sns  AÆÿ¬™óþ 1 2lim Sns s s

n

  A° è̂þ*ç³#Ð@þ¬. 



 

  ii) Test for convergence of 33

1

( 1)
n

n n . 

   33

1

( 1)
n

n n  AÀçÜÆæÿ×ý™èþ¯@þ$ ç³È„ìü…^èþ…yìþ. 

OR 

 b) i) Prove that (if 0 < a < b < 1), 1 1

2 2
tan tan

1 1

b a b a
b a

b a
. 

   (0 < a < b < 1) AÆÿ¬™óþ 1 1

2 2
tan tan

1 1

b a b a
b a

b a
 A° °Ææÿ*í³…^èþ$Ð@þ¬. 

ii) State and prove Langrange’s Mean Value theorem. 

 Ìñý¶V>…h Ð@þ$«§æþÅÐ@þ$ Ð@þÊËÅ íÜ§é®…™é°² {ç³Ð@þ_…_ °Ææÿ*í³… è̂þ$Ð@þ¬. 

12) a) i) If a function f is continuous on [a, b] then show that f is uniformly continuous 

on [a, b]. 

   [a, b] Ò$§æþ f  {ç³Ðóþ$Ä¶ý$… AÑ_e @̄þ²Ð@þ$Æÿ¬™óþ [a, b] Ò$§æþ f  {ç³Ðóþ$Ä¶ý$… HMæüÆæÿ*ç³ AÑ_e @̄þ²Ð@þ¬ A° 

^èþ*ç³…yìþ. 

  ii) In the Mean Value theorem , determine c lying 

between a and b, if  and . 

   Ð@þ$«§æþÅÐ@þ$ Ð@þÊËÅ íÜ§é®…™èþÐ@þ¬  ÌZ 

 Ð@þ$ÇÄ¶ý¬  AÆÿ¬™óþ a,b Ë Ð@þ$«§æþÅÌZ E¯@þ² c ÑË$Ð@þ¯@þ$ 

Mæü¯@þ$Vö¯@þ$Ð@þ¬. 

OR 

 b)  i) State and prove Cauchy’s Mean-Value theorem.  

   M>ïÜ‹Ù Ð@þ$«§æþÅÐ@þ$ Ð@þÊËÅ íÜ§é®…™é°² {ç³Ð@þ_…_ °Ææÿ*í³… è̂þ$Ð@þ¬. 

  ii) Prove that  is integrable on [0, 3] and 
3

0

[ ] 3x dx . 

   [0, 3]
 Ò$§æþ  çÜÐ@þ*MæüË±Ä¶ý$… A° è̂þ*í³ Ð@þ$ÇÄ¶ý¬

3

0

[ ] 3x dx  A° °Ææÿ*í³…^èþ$Ð@þ¬. 

 
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                                               Part - A (2 x 10 = 20) 

Answer any two of the following Questions 

HÐóþ° Æðÿ…yæþ$ {ç³Ôèý²-ËMæü$ çÜÐèþ*-«§é-̄ èþ-Ðèþ$$Ë$ {ÐéÄæý$$-Ðèþ$$. 

1) What are the different measures of economic development? How far they are satisfactory? 

 ÑÑ«§æþ BÇ¦-M>-À-Ðèþ– ®̈ MöË-Ðèþ*-̄ é-Ë¯èþ$ ÑÐèþ-Ç…_ AÑ G…™èþ-Ðèþ-ÆæÿMæü$ çÜ…™èþ–í³¢MæüÆæÿ-Ððþ$O-̄ èþ-Ðø ÑÐèþ-Ç…ç³#-Ðèþ$$. 

2) Explain the role of choice of goods and techniques in economic development. 

 BÇ¦-M>-À-Ðèþ– ®̈ Äæý$…§æþ$ ÐèþçÜ¢$-Ðèþ#Ë G…í³Mæü Ðèþ$ÇÄæý$$ Ððþ$âæý$-Mæü$-ÐèþË Äñý$$MæüP ´ë{™èþ¯èþ$ ÑÐèþ-Ç…ç³#-Ðèþ$$. 

3)  Examine the causes and consequences of poverty in India. 

 ¿êÆæÿ-™èþ-§óþ-Ôèý-Ðèþ$…§æþÍ õ³§æþ-Ç-M>-°Mìü VæüË M>Ææÿ-×êË$ Ðèþ$ÇÄæý$$ §é° ÐèþÆæÿÅ-Ðèþ-Ýë-̄ é-Ë¯èþ$ ÑÐèþ-Ç…ç³#-Ðèþ$$. 

4)  Explain the important sources of rural credit in India. 

 ¿êÆæÿ-™èþ-§óþ-Ôèý…ÌZ {V>Ò$×ý ç³Ææÿ-ç³-†Mìü E¯èþ² Ðèþ$$QÅ B«§é-Æ>-Ë¯èþ$ ÑÐèþ-Ç…ç³#-Ðèþ$$. 

               Part - B (3 x 15 = 45) 

Answer any three of the following Questions 

HÐóþ° Ðèþ$*yæþ$ {ç³Ôèý²-ËMæü$ çÜÐèþ*-«§é-̄ èþ-Ðèþ$$Ë$ {ÐéÄæý$$-Ðèþ$$.  

5) Critically examine the “Balanced Theory of Growth”. 

 çÜ…™èþ$-Í™èþ Ðèþ– ®̈ íÜ§é®…™èþ-Ðèþ$$¯èþ$ ÑÐèþ$-ÆæÿØ-̄ é-™èþÃ-Mæü…V> ç³Ç-Ö-Í…ç³#-Ðèþ$$. 

 6) Explain the causes for the inequalities in income distribution in India and suggest measures to 

reduce it. 

 ¿êÆæÿ-™èþ-§óþ-Ôèý…ÌZ B§éÄæý$ ç³…í³-×îý-ÌZ° AçÜ-Ðèþ*-̄ èþ-™èþ-ËMæü$ VæüË M>Ææÿ-×ê-Ë¯èþ$ ÑÐèþ-Ç…_, Ðésìý° ™èþWY…^èþ$ è̂þÆæÿÅ-Ë¯èþ$ çÜ*_…ç³#-Ðèþ$$. 
 



 

7) Explain agricultural price policy in India. 

 ¿êÆæÿ-™èþ-§óþ-Ôèý…ÌZ ÐèþÅÐèþ-ÝëÄæý$ «§æþÆæÿË Ñ«§é-̄ èþ-Ðèþ$$¯èþ$ ÑÐèþ-Ç…ç³#-Ðèþ$$. 

8) Explain the problems of Small Scale Industries in India. What are the remedies? 

 ¿êÆæÿ-™èþ-§óþ-Ôèý…ÌZ _¯èþ²-™èþ-Ææÿà ç³Ç-{Ôèý-Ðèþ$Ë$ G§æþ$-ÆöP…r$ è̄þ² çÜÐèþ$-çÜÅË$ HÑ? ç³Ç-ÚëPÆæÿ Ðèþ*Æ>Y-Ìôý-Ñ? 

9) Explain the effect of Globalisation in Indian Economy. 

 ¿êÆæÿ-™èþ-§óþÔèý BÇ¦Mæü ÐèþÅÐèþ-çÜ¦ò³O {ç³ç³…`-Mæü-Ææÿ×ý {ç³¿ê-Ðèþ-Ðèþ$$-Ë¯èþ$ ÑÐèþ-Ç…ç³#-Ðèþ$$. 

10) Explain the causes for deficit in balance of payments. What measures are taken to    reduce deficit 

in India’s balance of payments in recent years. 

 ^ðþÍÏ…ç³#Ë ÔóýçÙ… ÌZr$Mæü$ VæüË M>Ææÿ-×ý-Ðèþ$$Ë$ ÑÐèþ-Ç…ç³#Ðèþ$$. ^ðþÍÏ…ç³#Ë ÔóýçÙ… ÌZr$ è̄þ$ ™èþWY…^èþ-sê-°Mìü ¿êÆæÿ-™èþ-§óþ-Ôèý…ÌZ Csîý-ÐèþË 

M>Ë…ÌZ ¡çÜ$-Mö¯èþ² ^èþÆæÿÅ-Ìôý-Ñ? 

               Part - C (3 x 5 = 15) 

Answer any three of the following Questions 

HÐóþ° Ðèþ$*yæþ$ {ç³Ôèý²-ËMæü$ çÜÐèþ*-«§é-̄ èþ-Ðèþ$$Ë$ {ÐéÄæý$$-Ðèþ$$.  

 11) Human Development Index. 

  Ðèþ*¯èþ-Ðé-À-Ðèþ– ®̈ çÜ*_-Mæü. 

12)  Inclusive growth. 

  çÜÐðþ$Ã-ã™èþ Ðèþ– ®̈. 

13) Types of Industrial sickness. 

  ́ ëÇ-{Ôé-Ñ$Mæü Ææÿ$VæüÃ-™èþ-ÌZ° ÆæÿM>-Ë$. 

14) Industrialization. 

  ́ ëÇ-{Ôé-Ñ$-Mîü-Mæü-Ææÿ-×ý. 

 15)    Functions of Regulated Markets. 

 °Äæý$Ðèþ$º§æþª-Ððþ$Ō èþ Ðèþ*ÆðÿPr$Ï Ñ«§æþ$-Ë$. 

16)   New Agricultural Strategy. 

  ̄ èþ*™èþ¯èþ ÐèþÅÐèþ-ÝëÄæý$ ÐèþNÅçßý-Ðèþ$$. 

 



  

(DBSTT 21) 

B.A. DEGREE EXAMINATION, DEC. - 2015 

(Examination at the End of Second Year) 

Part - II : STATISTICS 

 Paper - II : Statistical Methods and Inference 

Time : 3 Hours  Maximum Marks : 80 
    

                          SECTION - A (4 × 15 = 60) 

òÜ„æü¯Œþ & G 

Answer any four questions 

{Mìü…¨ ÐésìýÌZ HÐóþ° ¯éË$Væü$ {ç³Ôèý²ËMæü$ çÜÐèþ*«§é¯éË$ {ÐéÄæý$$Ðèþ$$ 
 

1) a) Explain principles of least squares and how do you fit a parabolic curve to a set n pairs. 

  Î‹Üt õÜPüÓÆŠÿ Äñý$$MæüP çÜ*{™éË è̄þ$ ÑÐèþÇ…^èþ$Ðèþ$$ Ðèþ$ÇÄæý$$ n ò³Æÿ$$ÆŠÿ¯èþ$ òÜsŒý ^óþÄæý$$ °Ñ$™èþ¢OÐðþ$ ´ëÆ>»ZÍMŠü MæüÆŠÿÓ¯èþ$ 

(ç³Æ>ÐèþËÄæý$ Ðèþ{Mæü™èþ¯èþ$) GÌê íœsŒý ^óþÝë¢Æø ÑÐèþÇ…ç³#Ðèþ$$. 

 b) Define correlation and state and prove properties of Karl-Pearson’s coefficient of 

correlation. 

  Mö{ÆðÿÌôýçÙ¯Œþ¯èþ$ (çÜçßýçÜ…º…«§æþÐèþ$$ è̄þ$) °ÆæÿÓ_…ç³#Ðèþ$$, Ðèþ$ÇÄæý$$ M>ÆŠÿÏ í³Äæý$ÆæÿÞ Œ̄þ Äñý$$MæüP Mö{ÆðÿÌôýçÙ¯Œþ Äñý$$M æüP 

MöGïœíÙÄñý$…sŒý (Væü$×ýMæü…) çÜ*{™éË¯èþ$ °Ææÿ*ç³×ý ó̂þÄæý$$Ðèþ$$. 

 

2) a) Find the two regression lines X on Y and Y on X. 

  Y Oò³ X Ðèþ$ÇÄæý$$ X òOò³  Y  Æðÿ…yæþ$ Ç{VðüçÙ¯Œþ ÆóÿQË¯èþ$ Væü$Ç¢…^èþ$Ðèþ$$.  

 b) Derive the Spearman’s Rank correlation coefficient. 

  íÜµÄæý$ÆŠÿÐèþ*Å¯Œþ Äñý$$MæüP Æ>Å…MŠü Mö{ÆðÿÌôýçÙ¯Œþ MøGïœíÙÄñý$…sŒý¯èþ$ Ýë«̈ …^èþ$Ðèþ$$. 

 

3) a) Explain F distribution and state its properties. 

  F yìþ[íÜtº*ÅçÙ¯Œþ¯èþ$ ÑÐèþÇ…^èþ$Ðèþ$$ Ðèþ$ÇÄæý$$ §é° Äñý$$MæüP ÑË$ÐèþË¯èþ$ õ³ÆöP è̄þ$Ðèþ$$. 

 b) Define 
2  distribution and write uses. 

  
2  yìþ[íÜtº*ÅçÙ¯Œþ¯èþ$ °ÆæÿÓ_…ç³#Ðèþ$$ Ðèþ$ÇÄæý$$ Eç³Äñý*VæüÐèþ$$Ë è̄þ$ õ³ÆöP¯èþ$Ðèþ$$. 



 

  

4) a) Explain the properties of good estimator. 

  Væü$yŠþ GíÜtÐóþ$rÆŠÿ {´ëç³Èt‹Ü¯èþ$ (ÑË$ÐèþË¯èþ$) ÑÐèþÇ…ç³#Ðèþ$$. 

 b) Define : 

  D {Mìü…¨ Ðésìý° °ÆæÿÓ_…ç³#Ðèþ$$: 

i) Population. 

   ´ëç³#ÌôýçÙ¯Œþ. 

ii) Sample. 

 Ô>…í³ÌŒý. 

iii) Parameter. 

   ´ëÆ>Ò$rÆŠÿ. 

iv) Statistic. 

 ÝëtsìýíÜtMŠü. 

5) a) State and prove Neyman-Pearson’s Lemma. 

  ±Ðèþ*¯Œþ&í³Äæý$ÆæÿÞ¯Œþ Äñý$$MæüP ÌñýÐèþ*Ã è̄þ$ õ³ÆöP° °Ææÿ*ç³×ý ^óþÄæý$$Ðèþ$$. 

 b) Define : 

  D {Mìü…¨ Ðésìý° °ÆæÿÓ_…ç³#Ðèþ$$: 

i) Null Hypothesis. 

 ¯èþÌŒý Oòßý´ù£ðþíÜ‹Ü. 

ii) Alternative Hypothesis. 

   AËtÆóÿ²sìýÐŒþ Oòßý´ù£ðþíÜ‹Ü. 

iii) Type I error. 

 Osñý‹³ I G{ÆæÿÆŠÿ. 

iv) Type II error. 

 Osñý‹³ II G{ÆæÿÆŠÿ. 



 

 

6) a) Explain large sample test procedure for testing the significance of sample mean. 

  Ô>…í³ÌŒý Ò$¯Œþ Äñý$$MæüP {´ëÐèþ$$QÅ™èþ¯èþ$ ç³È„ìü…^èþ$ °Ñ$™èþ¢OÐðþ$ ÌêÆŠÿÞ Ô>…í³ÌŒý ç³È„æü {ç³{MìüÄæý$¯èþ$ ÑÐèþÇ…ç³#Ðèþ$$. 

 b) Explain large sample test procedure for testing the significance of sample proportion. 

  Ô>…í³ÌŒý {ç³´ùÆæÿÛ̄ Œþ Äñý$$MæüP {´ëÐèþ$$QÅ™èþ¯èþ$ ç³È„ìü…^èþ$ °Ñ$™èþ¢OÐðþ$ ÌêÆŠÿÞ Ô>…í³ÌŒý ç³È„æü {ç³{MìüÄæý$¯èþ$ ÑÐèþÇ…ç³#Ðèþ$$. 

7) a) Explain 
2  test for Independence of attributes. 

  A{sìýº*ÅsŒýÞ Äñý$$MæüP C…yìþò³…yðþ¯ŒþÞ °Ñ$™èþ¢OÐðþ$ 2  ç³È„æü¯èþ$ ÑÐèþÇ…ç³#Ðèþ$$. 

 b) Explain small sample test procedure for testing the significant difference between two 

sample means. 

  Æðÿ…yæþ$ Ô>…í³ÌŒý Ò$ Œ̄þË Ðèþ$«§æþÅ VæüË Væü×ý±Äæý$ ÐèþÅ™éÅçÜÐèþ$$¯èþ$ ç³È„ìü…^èþ$ °Ñ$™èþ¢OÐðþ$ ÝëÃÌŒý Ô>…í³ÌŒý ç³È„æü¯èþ$ ÑÐèþÇ…ç³#Ðèþ$$. 

 

8) a) Write advantages and disadvantages of Non-Parametric methods. 

  ¯é¯Œþ&´ëÆ>Ððþ${sìýMŠü ç³§æþ®™èþ$Ë ™éË*Mæü$ A è̄þ$Mæü*Ë™èþË$ Ðèþ$ÇÄæý$$ A¯èþ¯èþ$Mæü*Ë™èþË¯èþ$ õ³ÆöP¯èþ$Ðèþ$$. 

 b) Explain Wilcoxon-signed Rank test for two related samples. 

  Æðÿ…yæþ$ ÇÌôýsñýyŠþ Ô>…í³ÌŒýË MöÆæÿMæü$ ÑÌŒýM>MæüÞ¯Œþ&OòÜ¯Œþz Æ>Å…MŠü ç³È„æü¯èþ$ ÑÐèþÇ…ç³#Ðèþ$$. 

                         SECTION - B (10 × 2 = 20) 

òÜ„æü¯Œþ & ¼ 

Answer the following questions 

D {Mìü…¨ {ç³Ôèý²ËMæü$ çÜÐèþ*«§é¯èþÐèþ$$Ë$ {ÐéÄæý$$Ðèþ$$ 
 

9) a) Power curve. 

  ç³ÐèþÆŠÿ MæüÆŠÿÓ. 

 b) Correlation ratio. 

  Mö{ÆðÿÌôýçÙ¯Œþ ÆóÿíÙÄñý*. 

 c) Partial correlation. 

  ´ëÇÛÄæý$ÌŒý Mö{ÆðÿÌôýçÙ¯Œþ. 

 d) Mathematical Expectation. 

  Ðèþ*£æþÐóþ$sìýMæüÌŒý GMŠüÞò³MóütçÙ¯Œþ. 



 

 e) Standard error. 

  Ýët…yæþÆŠÿz G{ÆæÿÆŠÿ. 

 f) Maximum likelihood estimation. 

  Ðèþ*WjÐèþ$ÐŒþ$ OÌñýMŠüÎçßý$yŠþ GíÜtÐóþ$çÙ¯Œþ. 

 g) Fisher’s Z transformation. 

  íœçÙÆŠÿÞ Äñý$$MæüP Z  {sê Œ̄þÞ¸ëÆóÿÃçÙ¯Œþ. 

 h) Critical region. 

  {MìüsìýMæüÌŒý ÈhÄæý$¯Œþ. 

i) Run Test. 

 Ææÿ¯Œþ sñý‹Üt. 

 j) Sign Test. 

  OòÜ¯Œþ sñý‹Üt. 

 


 




